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Questions : 1

What are the next three numbers in the above sequence?
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Ans: 192, 87, 696

Take difference of alternate digits, then multiply by 8.
So,24x8=192,

192 produces 87 (9-1=8and9-2=7),

87 x 8 = 696.

Questions : 2

Which four of these numbers will add up to 5007?
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Ans: 225+ 119 + 76 + 80 = 500.



Questions : 3

What number should replace the question mark?
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Add the three surrounding numbers in the position as in the examples below.

Questions : 4

What number should replace the question mark?
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Ans: 108
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